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QUESTION 1

You have a webserver and a DNS server residing in the same internal DMZ subnet. The public Static NAT addresses
for the servers are in the same subnet as the SRX Series devices internet-facing interface. You implement DNS
doctoring to ensure remote users can access the webserver. 

Which two statements are true in this scenario? (Choose two.) 

A. The DNS doctoring ALG is not enabled by default. 

B. The Proxy ARP feature must be configured. 

C. The DNS doctoring ALG is enabled by default. 

D. The DNS CNAME record is translated. 

Correct Answer: BC 

 

QUESTION 2

You opened a support ticket with JTAC for your Juniper ATP appliance. JTAC asks you to set up access to the device
using the reverse SSH connection.Which three setting must be configured to satisfy this request? (Choose three.) 

A. Enable JTAC remote access 

B. Create a temporary root account. 

C. Enable a JATP support account. 

D. Create a temporary admin account. 

E. Enable remote support. 

Correct Answer: CDE 

Reference:
https://kb.juniper.net/InfoCenter/index?page=contentandid=TN326andcat=andactp=LISTandshowDraft=false 

 

QUESTION 3

Click the Exhibit button. 
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Referring to the exhibit, which IPS deployment mode is running on the SRX5800 device? 

A. sniffer mode 

B. integrated mode 

C. monitor mode 

D. in-line tap mode 

Correct Answer: B 

 

QUESTION 4

The monitor traffic interface command is being used to capture the packets destined to and the from the 

SRX Series device. 

In this scenario, which two statements related to the feature are true? (Choose two.) 

A. This feature does not capture transit traffic. 

B. This feature captures ICMP traffic to and from the SRX Series device. 

C. This feature is supported on high-end SRX Series devices only. 
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D. This feature is supported on both branch and high-end SRX Series devices. 

Correct Answer: AD 

Reference: https://forums.juniper.net/t5/Ethernet-Switching/monitor-traffic-interface/td-p/462528 

 

QUESTION 5

Exhibit. 
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A hub member of an ADVPN is not functioning correctly. Referring the exhibit, which action should you take to solve the
problem? 

A. [edit interfaces] root@vSRX-1# delete st0.0 multipoint 

B. [edit interfaces] user@hub-1# delete ipsec vpn advpn-vpn traffic-selector 

C. [edit security] user@hub-1# set ike gateway advpn-gateway advpn suggester disable 

D. [edit security] user@hub-1# delete ike gateway advpn-gateway advpn partner 

Correct Answer: B 
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